AFLAG R =

T %= 4 )1 EERT B R T (2 D1)
T H %5 S 2 HERE Mele ) 7T B
T %= 5 pr —OER R AR TR N
(HA7 - T-H)
Lk L) 5 10H] 2lH] kS
ML UL oL GLeee) | M | ArlsE Gums) | Gy
1 |59 B Rk a4t 6,500
2 | ST 6,200 1 WAL E
3 |fE HiERE ST 6,500
VNl E e S 6,570
5 |7 =B ERR St 6,400
6
7
8
9
10
FREAFAIZ10057 D 10ITHE Y T 2584 IR L= 4805, BT S EHR A B A Z AR DMl THh D,
AN fL 4 H H AFn 2 AR 5 A 28 H 9454y
A KB PT JIERET B b 2 KEak=
ANALBATHE B PO
A P4 HOH S0 S H H
56 K 4F H H A0 2 AR 8 H 31 H
ANFLE AR (T ERS)
(G BL10% & 57) & 6,576,000 "
ANFLE sk (il BR ARG %) ( El )
GHEERLL0% & %) & 5,850,000 .
AR o B OER

Il HE B



